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3rs=afat & forw srerder / Instructions to the Candidates
SR v IR F T A E | Ty 379t &7 rerROT AT wes & 3R W fRaT ST | / The question paper is in
the form of test booklet. All candidates will be assessed on identical questions.
Wa@%ma%maﬁmﬁwﬁh/mmaﬁa@mﬁmm, (&), @) 3k @) Rraw gl 3773 8
Farer Uk &1 A ¥ AR R IgEFT Seak & = AT STl / Each objective question is provided with a text and/or

figures wherever applicable with multiple answer choices (A), (B), (C) and (D). Only one among them is correct and
most appropriate answer shall be selected.

mﬁaﬁmwaamé‘rw%ﬁtrmaﬁ—?ﬁﬂ%}ﬁtmmmﬁmwﬁg@mﬁmml /Al

objective type questions carry equal marks of THREE for a correct answer and One third negative mark will apply for
each wrong answer.

TF N F AT 3 Iea¥ & U SHE T 3ca] AT AT / Multiple answers for a question will be regarded as
a wrong answer.

IeaT & ¥ T @l 3Rt v 36T FTAFR 3cak 97 Wel fhar I/ T §1 / A separate OMR answer sheet is
provided to all candidates for answering.

NTAIR TF R BT 7T IR A CAAgEH 0| TN 7 R o 3R qa 379G Seel F R & fow
Fhael dafer IS YT (AYell/aTe) T T HL| / Read the instructions on the OMR sheet carefully. Use only Ball Point
Pen (Blue/Black) for writing on OMR sheet and marking the most appropriate answer.
mag%mmﬁﬁaﬁ%?ﬁmma?aﬁﬁwgmﬁmﬁmamgﬁn%mm 0 AR &7 A INTAIR e & iy I
ford 3R a7 & e s| VAT T FE R SccR IF I HedicheT g1 [T S| / Question booklets have been

marked with A or B or C or D or E on the right side top comer, which is mandatory to be written on the OMR sheet in
the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

mqﬂwnﬁfﬁmqﬁa@wsﬁwaﬁﬁﬁwsﬂmﬁ»mﬂ%’ﬂ%ﬁ?ﬁ%ﬁﬁmmwﬁ‘rmﬁmﬁmm
ST Y| S e 3Tk T aget AR § 3T T Faie o H | T e T RS FR & I a1es 7 FfeeT Farer

T aT9H 3T Tha &1/ Although the test stresses on accuracy more than speed, it is important for you to use your time as

effectively as possible. Do not waste time on questions, which are too difficult for you. You can go on to other questions
and come back to the difficult ones later.

uﬁ:mwﬁﬁgﬁmﬁmwwmmﬁ%mm%l sq% forw 37 ofie gt & ATwaf| / Space
available in the booklet could be used for rough work, if required. No separate sheet will be provided.

. iR e ATC g R, IR Seek YReaehT 1 S & ST foeet & ©18 3R T AR Seerk giecerT fodrerss 1
| e g@dr wfer 3maek ar T8 / On completion of the Written Test, tear the OMR Answer Sheet at the perforation mark
at the top and hand over the original OMR Answer Sheet to the invigilator and retain the duplicate copy.

. o wATCR g 0% (1) PR e sier o et TX wret Rvewrar arar ¥ 3k (2) 3eAsR 3o o frdier @ gl & sk
Rt ofY gAY & 3r3weff garar @1 & o AT | / At the end of the test (1) Written Test Call Letter(s) with

photograph pasted on it and (2) OMR Answer Sheet should be handed over to the invigilator and shall not be
carried by the candidate under any circumstances.
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01.

02.

03.

04.

o7 9f3&T F13 / Question Booklet Code A

mﬁmwmmwquﬁwaﬁﬁw,aﬁmaﬁﬁ,%mmﬂmm%/

A circuit using diodes and capacitors that increases input voltage by two, three or four times is

(A) dieear gdeels / Voltage Subtractor (B) drecdr drsH/ Voltage Summer

(C) dYecdr fa#rsieh / Voltage Divider (D) dleedr [uTeh / Voltage Multiplier

w&ﬁ,aﬁwm,maj?raﬂwqaﬁﬁésamﬁﬁrﬁmrwwﬁﬁ el

ST & / A condition where two signal applied in differential inputs are of same phase, frequency and

amplified is called

(A) 3afass §fs/ Common baud (8) 3safass fdur/ Common mode
(C) 3¥afass Hahd / Common signal (D) 3gfass fader/ Common input

oo GRYY, S BT fheex ded & @I TF YAt 1 SGAT a8, I el S §

A circuit that uses an amplifier with passive filter element is called an

(A) fasifa Qe / Relaxation Oscillator (B) ¥ehd Sifet= / Signal Generator
(C) a9 vadiw / Differential Amplifier (D) wfsha Reex / Active Filter

T n - TFR 1 3Tareies 9erd/ A n-type semiconductor material

(A) drfccas &/ is Instrinsic

(B) ¥ FEd® 3uged lﬂ?ﬂﬂl Siar T &/ has trivalent impurity atoms added

(C) ¥ duaSTE UEEd GRAIY] ST AT §/ has pentavalent impurity atoms added
(D) 3 S UTHHUT Hr HTERIFAT 61 & / requires no doping

aFAfRe ¥ (gd=elieeh) / Technician ‘B’ (Electronics) — 2018 — amédiamEY / IPRC 3



05.

06.

07.

08.

9T 9T F12 / Question Booklet Code| A

ﬁm%w,wm@?%,WW$WWW$mﬁ,ﬁmw
Ted AT §, B FET AT §

Configuration of two transistors in which collectors are connected and emitter of first drives base of second, it
achieves beta multiplication is called
(A)  sTfeleTe g3H / Darlington pair (B) T g3/ Beta pair

(C) ¥ewr g7A / Alpha pair (D)  IMAT JIH / Gamma pair

& A H T 0T, RER o & W §

Form factor is equal to peak factor in case of

(A) @7 3T/ Square wave (B) HSiCﬂIEFII TRaT/ Triangular wave

(C) 3RIET aiar/ Sawtooth wave (D) IuRied Tair/ All of the above

U Aol 7 IRTA. 9ROy dleedr F ARUR WieRiEs 3R ORer A 3V 3R 4V §1 df 3euded dleed
T &7

In a series RL circuit voltage across Resistor and Inductor are 3V and 4V respectively. Then what is the
applied voltage?

(A 7V (B) 5V ) 4V (D) 3V

FRUAH. FAK 9w &, afy derfr 3R O/ & aAead § arr SR, AfFd qorn 4§27/ In

RLC parallel circuit, if current through capacitor and inductor is equal, then, what is the power factor?

(A)  9IIAT / lagging (B)  3WEMHT/ leading

(C) Ucheh / unity (D) <" /zero

awaAfge Y (gAFeifeieh) / Technician ‘B’ (Electronics) — 2018 — 393 / IPRC 4




09.

10.

11.

12.

esT 9T3&T H12 / Question Booklet Code| A

FRua . Ao F ooy R = 20, L = 2mH 3R C = 1pF 3R 3w dleedr 10V DC, &, @, Tl

Z9T YRT AT &7 £2 / In RLC series circuit R = 2Q, L = 2mH and C = 1uF and applied voltage is 10V DC,

then, what is steady state current value?

(A 5A (B) 2A
©) 1A (D) O0A

10Aﬂmaﬁmaﬁru€5m%a¢mwéa€naﬁ%%aowa;aﬁummwwmu

Find the magnetic field intensity at the centre 0 of n sqaure of the sides equal to 5m and carrying 10A

current.
A 12 B) 1
(C) 16 (D) 1.8

FeT O F v LA [FeEt & a9 haer dfeaar g

A BCD decoder will have how many rows in truth table?

(A) 3 (B) 9

©) 8 (D) 10

10 70T & Teh ATIIH #, 21T =1fgT / A modulus 10 counter must have

(A) 10 T wara /10 flip flops (B) 1 fFera weAra / 1 flip flop

(C) 2 T wera / 2 flip flops (D) TeushIftaeh Fellieret / synchronous clocking

2
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13.

14.

15.

16.

e I F15 / Question Booklet Code| A

T §e9g Y OR 91T, gage 9iA AND e & 1Y 3dfdf=#e 8, & 3idelchst @ & ® A
Hefda fFar siar €/ The observation that a bubbled input OR Gate is interchangable with bubbled output

AND Gate is referred as

(A)  Frar 3fART/ A karnaugh map

(B) 3 ARAA fa¥# / DeMorgan’s law

(C) T & HAAEIHT @I / The commutative law of addition
(D) oI &I gigad @TH / The associative law of multiplication

fafoele & fav afsia ZeiT 3R &/ The forbidden energy gap for silicon is

(A 1.1eV (B) 0.67eV (C) 0.97eV (D) 1.7eV

fdg & srg Sgd 3T 3mgfed W AT §, Fifh s @Y @ §

Point contact diodes are preferred at very high frequency, because of its low junction

(A) enfar 3R Rehca / Capacitance and Inductance
(B) WRehcd / Inductance

(C) eTRdr/ Capacitance

(D) wfaRier/ Resistance

A A AR T 7 gfage a ¥

In standard TV receiving antenna the dipole element is

(A) TR &&F & 0.5/0.5 of the wave length
(B) TReT &&F & 0.25/0.25 of the wave length
(C) oRer &&F & 1.5/ 1.5 of the wave length
(D) TR &&F & 1.0/ 1.0 of the wave length

a=NRrae Y (seraeierdY) / Technician ‘B’ (Electronics) — 2018 — TSR / IPRC 6




17.

18.

19.

20.

79eT qI¥ET F13 / Question Booklet Code| A

3RATH Higelel HT Ueh YR TSE# g foieg §, 38 gl ST §

A type of amplitude modulation in which carrier is suppressed is called

(A)  3RIcferd Agel=l / Unbalanced Modulation
(B) 3igfcet #Age / Frequency Modulation
(C) Hdfele Higelel / Balanced Modulation

(D) =RETART Higere / Exponential Modulation

U Afr AC aRTY #, XL = 2350 3{1#, C = 0.005pF, 3{R R = 500Q & | 3ie-Ae O Afcaren 41 §°?
In a series AC circuit, XL = 2350 ohms, C = 0.005pF, and R = 500Q. What is the impedance at resonance?

(A) 3mgfed AT gl=lr =1fgT / The frequency must be known
(B) 2.1KQ
(C) 4200 Q
(D) 0.5 KQ

S U gloeesl ¥ 500 KHz g7 aReT & &, aF 39 fopg 3afd F d@er 1 393l S8 (T ot O%
& faw)

When observing a 500 KHz square wave with an oscilloscope, What period would you expect to see? (For a
full cycle)

(A) 5 ATSHI Ahs /5 microseconds (B) 200 ATSHI ¥hs / 200 microseconds
(C) 2 ATSsHI WS /2 microseconds (D) 200 == ¥ehs / 200 nanoseconds

T 10mh $3T 1 TR 100 309 &1 e 3gfed T XL =R g2

A 10mh coil has a resistance of 100 ohms. At what frequency does XL = R?

(A)  15915.5 g&sT / 15915.5 Hz (B) 7957.7 €&/ 7957.7 Hz
(C) 31830.9 §¢aT/ 31830.9 Hz (D) 1591.5 s/ 1591.5 Hz

qFAREe Y (gaFeifad) / Technician ‘B’ (Electronics) — 2018 — Jr$di3mdY / IPRC 7




geaT 9f¥&T #13 / Question Booklet Code| A

21, v Gl wdf Ay ganr fasfid g smgel_ & gaAEnd §

Torque developed by a DC servo motor is proportional to the

(A)  ufFa 3R F#FT & IUAHe / Product of power and time

(B) IR RT 3R 9T $.UA.UG. & IUTAHe / Product of armature current and back emf
(C) 3R dleear 3R 3R 4RT/ Armature voltage and armature current

(D) & dlecar 3R &7 9RT/ Field voltage and field current

22.  fayEr cifSeex &1 qoe &, W &9 A &1 Jerdl gifeRe # eRior Ad ¢
Compared to bipolar transistors, field effect transistors are NOT normally characterized by:
(A) 3Ta faaer gfaerear/ high input impedance
(B) T gcha FATT PN T/ a reverse-biased PN junction
(C) fawT faaer ufdemer / low input impedance
(D) & fFd &I @WId/ low power consumption

23.  U% yaHd FT 3AH Fid, 3MaRIS FAT F & F qRenia fRar Jrar §
Rise time of an amplifier is defined as time required

(A) 39 3ifAH He & 0 100% & scel & fow
To change from 0 to 100 % of its final value

(B) 31U 3iTAH Hed & 0H 50% H seolel & forw
To change from 0 to 50 % of its final value

(C) 39« 3HTAH Hed & 10 & 90% H Feoat & oI
To change from 10 to 90 % of its final value

(D) 31 3fAH HeT F 10F 100% # Feoi= & fow

To change from 10 to 100 % of its final value

24.  ofg E RE dieedr §, @ 7 aor feesill 87 RaR 3ape dlecal____ &/ Peak Inverse Voltage for a full

wave rectifier, if E is the peak voltage is

(A E (B) 15E (C) 0636E (D) 2E

TR Y (FeFeiae) / Technician ‘B’ (Electronics) — 2018 — 3m§disn< / IPRC 8




25.

26.

27.

28.

w2 9f3T S5 / Question Booklet Code

TH.UE.Ud. BT F Ereer faer de i Ear # gArase har 3T §

Approximately how many number of gates are incorporated in SSL chip

(A 12 (B) 100

(C) 100 ¥ 3#T®H/ Excess of 100 (D) 1000 ¥ 378 / Excess of 1000

¥ watE e quiRe & fafad fhar s &

In an amplifier coupling, capacitors are employed for

(A) ¥3 aFar & @A T/ Limiting the bandwidth
(B)  wfciSTEm A / Matching the impedance
(C) Taer ar et & @y A s @ e

Preventing the DC mixing with input or output

(D)  fo¥e gAeeT / Matching the output

U giforeex & If¢ Tewr =0.98 &, ar F R URT AT §

In a transistor, if Alpha = 0.98 current gain is equal to

(A) 49 (B) 59 (C) 69 : (D) 29

& guiia & 5.0V W 0.1C & 34w §1 sahr afidr §

A capacitor carries a charge of 0.1 C at 5.0V. Its capacitance is

(A)  0.05F (B) 0.02F (C) O0.5F (D) 0.2F

FefRer & (ga<if@d) / Technician ‘B’ (Electronics) — 2018 — 3mSR / IPRC




wesT qf¥&T #13 / Question Booklet Code| A

29. fa=fof@a & ¥ o faeary & 555 @rer o= 1 39NeT fohdT ST Gehel 87

The 555 timer can be used in which of the following configurations?

(A) 3Rl TeiTufae / astable, monostable

(B) uereufdss, gfafeufdss / monostable, bistable
(C)  3rEmT, eiaret / astable, toggled
(D) cfafeufass, BfEdTde / bistable, tristable
30. 31y TTer F el 3cRTeT § |/ Semi conductors have a energy gap
(A)  3i¥dcagisT / non-existent (B) =a/zero
(C) 3T/ large (D) ®er/small

31-@@6@%@1&#%@@3}%%%@3&8@%@%%@,
. AT dleear & 3

The equivalent DC output voltage of a full wave rectifier is the equivalent DC output voltage of a
half wave rectifier

(A) R/ equal (B) HEfId =gl / not related
(C) 3™/ half (D) g1/ double

32, 3RY & o) 9fRIYT SoTd &, U 39S ScHoh T O Wfew e,

The current gain of a Common emitter amplifier , as the load resistance is increased

(A) §¢ S/ increases

(B) =T SiTdl/ decreases

(C) 3mRafda g/ is unchanged

(D) g ST & 3R f °e ST/ increases and then decreases

TaafArger Y (gaFei@) / Technician ‘B’ (Electronics) — 2018 — 3T§H3m<H! / IPRC 10




33.

34.

35.

36.

g2 9fadT S5 / Question Booklet Code

e efaydr giforeer &1 3R e & e oI & @ §

Base thickness of modern bipolar transistors can be as small as

(A)  1um (B) 0.1um (C) 10nm (D) 10A

oY 9% §T ¥ TIFd ya¥sh f&=ar &/ The most widely used amplifier configuration is

(A) 39IASS 3MTER / Common base

(B) IS 3?&6%/ Common emitter

(C) 3F9afsa Famer / Common collector

(D) 39aferss 3MuR 3R 33Afacs 3chsish & Tdle=

Combination of common base and common emitter

T A qasF §T fean dgifas cefar g ashdl &

The maximum theoretical efficiency of a Class A amplifier can be

(A)  50% (B) 78% (C) 25% (D) 100%

TF yadis & @9 O HER ¥ 9 Ol 3R 7 Seod & gl STl §

The change of output wave shape from the input wave shape of an amplifier is known as

(A) wae= / Amplification (B) HIgef= / Modulation
(C) fa®9uT/ Distortion (D) gf=iesT / Rectification

aEefRrrer | (gAY / Technician ‘B’ (Electronics) — 2018 — JT§di3md / IPRC
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yeeT IF¥FT F15 / Question Booklet Code| A

37.  uw Tiferex # PN &f §/ A transistor has PN junctions
A 1 B 2 (€ 3 (b 4
38. & T BT AT & / A transformer transforms
(A)  3mgfea/ Frequency (B) dreedr/ Voltage
(C) emrT/Current (D) dieear 3R 4RT/ Voltage and Current

39. 1000 SrufEe R ATy CTEWER @ 250V wA. T 3mfd & SieT T ¥l 400V & gfacasd diecdr &
forT, gfadas 3R & dear GEICITIY

A transformer having 1000 primary turns is connected to a 250V AC supply. For a secondary voltage of

400V, the number of secondary turns should be

(A) 1600 (B) 250 (C) 400 (D) 1250

40. & SEIHS A 3T 3gfed T ARYGAT ¥ A ST FhAT &

The unknown frequency can be measured accurately using

(A) HIR/ Meggar (B) dlecATdr/ Voltmeter

(C) UHEEX/ Ammeter (D) W3R/ CRO

FFARIT dr (3w / Technician ‘B’ (Electronics) — 2018 — STNTET / IPRC 12




41.

42.

43.

44,

92T IfA&T F15 / Question Booklet Code

I A & U ve dEdLTA. ST 39T e w8 T Srar ¥

A VTVM is never used to measure

(A) ufaRier/ Resistance (B) dlec/ Volt

(C) ®RT/Current (D)  3gfcd / Frequency
THAHLIR. & U5 &I, FAg & goeT 7 fIHT 9T §HT FAIT I@T SiTar &
The anode of SCR is always maintained at potential with respect to cathode
(A) 3T/ high (B) f&#=T/low

(C) €IIcA / positive (D)  FOTcAS / negative

Ueh AR Hohd & ATALT Y IGIT hT YThaT I el 1Tl &

The process of raising the strength of a weak signal is known as

(A)  ¥ehd Wielshel=T / Signal conditioning (B) 9RRIM=T / Rectification
(C) waH=T / Amplification (D) f=des / Filtering
SR ORT WiF 7 g / The ideal current source will have

(A) F=T HidRe YfaRIEr / high internal resistance
(B) =T 3idRer YA / zero internal resistance
(C) 3%d 3idfkes JTaRIEr / an infinite internal resistance
(D) &%=t 3riaRker wfcRIEr/ low internal resistance

dweierast Y’ (gerFeifer)) / Technician ‘B’ (Electronics) — 2018 — 3mé&dismea) / IPRC
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45.

46.

47.

48.

9T 9f3eT F12 / Question Booklet Code

alge a7 R AT IEARIIOT BT FiRAT T el ST &

The process of super imposing information onto a carrier wave is called

(A)  TEROT/ Transmission (B) ¥A@R / Communication
(C)  HigeleT/ Modulation (D)  fa=Tgeret / Demodulation

T ot e Rveardr #, ARy Al sl amgfer 50 g, A T A v s __ %

In a full wave rectifier, if AC supply frequency is 50Hz, then the AC ripple in the outputis __

(A) 50 gt/ Hz (B) 100 &St/ Hz
(C) 258csT/Hz (D) 108§EsT/Hz

W%mm.m.gmﬂwmmm%

RC coupling is used for amplification
(A) drec/ Voltage (B) «feFd / Power
(C) &RT/Current (D) 3Wiwd F & g o7 7gI / None of the above

¥ w7 F TF IR IS F GAT AT ST &/ A Zener diode is used as a

(A) Teseardl / Rectifier (B) dieear farHs / Voltage regulator
(C) waYe / Amplifier (D) fReeX / Filter

g & (saeei@dt) / Technician ‘B’ (Electronics) — 2018 - msdi3mt / IPRC
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49.

50.

51.

52.

T3 IfaET F15 / Question Booklet Code

& eeAcHT YeAl-ider & 39T fohdT SITaT & / Positive feedback is used in

(A) alfelT / Oscillators (B) 3T wfsdr gaties / High gain amplifiers

(C) A / Regulators (D) fecX [ Filters

A multivibrator is a circuit which generates

(A) @97 TIT/ Square wave (B) WIS a9/ Sine wave

(C) TSR TR/ Triangular wave (D) 3IMAEAT ad@T/ Sawtooth wave

&I SoFel e BT & T F SEAATS fRAT ST Fehell &

can be used as a electronic switch

(A) 3MIS/ Diode (B) cifeiEeX / Transistor

(C) agm‘ﬁ‘:r/ Multivibrator (D) IRAEER / Transformer

Iy RS a9y 1 Haer vh RS a7 §, ar el agar g

If the input to differentiating circuit is a sawtooth wave, then the output will be wave
(A) @/ Square (B) 3MIATR / Rectangular

(C) TRegsfr/ Triangular (D) SI1EsI / Sinusoidal

FEARe Y (seFeifarh)) / Technician ‘B’ (Electronics) — 2018 — 33 / IPRC
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53.

54.

65.

56.

g9 93T F15 / Question Booklet Code

T SLUE.S.CT. I faedr Afstr g@rT &/ A JFET is characterised by gain
(A) dleear/ Voltage (B) ®RT/Current

(C) <t/ Power (D) fcRIEr/ Resistance
TH.ALIR. §¢ g 1T §, S« WAls URT & R O &

The SCR is turned OFF when the anode current is holding current
(A) =/ below (B) U /above

(C) &Y/ equal to (D) =TT/ twice the

T oA & U "~ PN &ffr §/An UJT has PN junction

A 1 B) 2

(c) 3 (D) IS 71T/ None

T SEATH F 1mA F Qo7 A faRioer anr &, R gefear Gl

A Multimeter has full scale deflection current of 1mA, then the Sensitivity is

(A 1000Q/V B) 1QIV
(C) 100Q/V (D) 10kQ/V

THeNRTe Y (saaeiferd) / Technician ‘B’ (Electronics) — 2018 — 3TgHiamwT / IPRC
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a7 93T 15 / Question Booklet Code| A

., e s e Ao Asw sfRo Sgrear g dras @ S §

When high resistance is connected in series with a galvanometer, it becomes

(A)  drecHTdr / Voltmeter (B) UFHII/ Ammeter
(C) 31T / Ohmmeter (D)  dfeaArdr/ Wattmeter

58. IfE vw SAEHR dlecar H Fao FratR AT el & Qv seed R S € | g 8 W

TR / If a sinusoidal voltage is applied to vertical deflection plates only, then we get

on the screen

(A) FEaTeER @/ Vertical line (B) &ifdsr X@r/ Horizontal line
(C) feig/Spot (D) @IS =181/ None

99. .. Y& FT gEY ST w9 & / The most popular form of IC package is

(A) I3 /DIL (B) weict® / Flatpack

(C) A.3M.-5/TO-5 (D) 3Wad F & F$ o FE/ None of the above
60. |C LM 309 dieear s e @ad eecas ot vee aear &

IC LM309 Voltage regulator provides a fixed positive output

(A) +10V (B) +5V (C) +3V (D) +1V

aEeI R Y (gaFeiah) / Technician ‘B’ (Electronics) = 2018 — 3mgdisnzdt / IPRC 17
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